IA UVo3A »
hEmbmL L
TCL% %% (2137=+ 1131:) 0 B B 23

[TIERARVIL] COTFVY R | FTTeRARUIL [SREES TEMY DY O— REMRIAATE XY,



IA UVo3A »
hEmbmL L
TCL% %% (2131=+ 1131:) e B B 23

| 2 @ 53 © 34 @ 27

45 @ 2 | ® 53 | 5
+ 2 + 7 + 3 - 4
32 2 4 3| 4 2
+ 3 + 2 + 7 + 4

[TIERARVI] SOTVY R | FTTeRARUIL [SREES TEMY DY O— REMRIAATE XY,



IA UVo3A »
hEmbmL L
TCL% %% (2131=+ 1131:) 9 B B 23

46 @ 3 | ® | 2 ® 46
+ 2 + 4 + 5 + 3
72 ® 3 | @ 52 72
+ 5 + 6 + 5 + 2
55 4 3 @ 2 | @ 83
+ 2 + 6 + 4 + 6
36 @ 5 | ® 4 2 32
+ 2 + 5 + 3 + 2
6 3 5 1 28 4 |
+ 5 + 6 + | + 7

[TIERARUI] COTFVY R | FTTeRARUIL [SREES TEMY DY O— REMRIATEX T,



7-LE 8 0% O L 8 %
6 2 @ 26 €) 31 @ 4 3
+ 2 + 3 + 8 + 4
72 ® 8 | @ 55 2 |
+ 6 + 7 - 3 -+ 5
4 2 82 @) 56 @ 6 |
+ 6 + 2 -+ 2 -+ 6
82 ®@ 4 4 ® 52 32
+ 3 + 2 + 7 + 6
8 | 23 4 2 34
+ 8 + 6 + 2 + 4

[TIERARVI] SOTVY R | FTTeRARUIL [SREES TERY DY O— REMRIAATE XY,



IA UVo3A »
oy L
TCL% %% (2131=+ 1131:) e B B 23

32 @ 53 ® 83 ® 477
+ 5 + 6 + 3 + |

7 | ® 65 @ 34 ® 55
+ 6 + | + 3 + 4
32 0O 9] o 71 @ 42
+ 7 + 6 + 7 + 5

[TIERARVIL] SOTVY R | FTTeRARUIL [SREES TEMY DY O— REMRIATE XY,



